DOR-O-MATIC.

AUTOMATICDOORSYSTEMS

Benchmark
Swing Operator

Installation Instructions

95239-900 Standard
95339-900 Premium

DOR-O-MATIC.
AUTOMATICDOOR SYSTEMS
7350 West Wilson Avenue
Harwood Heights, IL 60706-4708
/7 1-800-543-4635
i 708-867-7400
QB |§o?e[||:g!:rlcle.vrm&venssg!tieo!|¥? Technical Support: 1-888-942-9945
Engineering Fax: 708-867-1177
Copyright © 2003 Ingersoll-Rand. All rights reserved. www.doromatic.com

95299-084 REV. 0 November 2003 DA-345



CONTENTS

GENETAL ... .., 2
Replacement Parts and System Components .............cccccvviiiiiiiiiiiiiiiiiiiieeeeeee, 2
Pre-Installation Site and Product Check.................... i, 4
OperatorInstallation ..., 5
LAY 1o PSPPSR PP PP PP PP 9
Armand Cover Installation ... 12
OperatioNal ChECK ............uueiiieii e 14
Operator AdJUSIMENT ... ..o 15
REIEASE fOr SEIVICE ......evieie e 16

GENERAL

The Benchmark is an automatic electromechanical swinging door operator for indoor use on hinged,
center pivoted, and offset pivoted doors. When activated, the Benchmark drives the door to the full open
position, then electrical power is turned off and the door is closed by spring force. The activating
circuit opens the door from any position in the closing swing. During a power failure, the Benchmark
acts as a manual door closer (size 3). Door opening and closing cycles, including opening speed,
back check speed, hold open time delay, closing speed, and latch position, are adjustable.

A WARNING A CAUTION A CAUTION

Always disconnect main
power to the operator prior
to servicing or cleaning.

REPLACEMENT PARTS AND SYSTEM COMPONENTS

Do not mount any
accessories directly to
the operator.

This operator is for
indoor use only.

” Full Length Full Length
Part 27" Header Header Siigle Header Dc?uble
Standard Control Box | 95229-900 95229-900 95229-900
Premium Control Box | 95329-900 95329-900 95329-900
Gear Box 95100-000 99040-000 95100-000
Cover 95171-9XXR | 99201-9XXR 99201-9XXR
Insert N/A 99067-9XX N/A
End Caps 99060-900 99060-900 99060-900
Part Pull Standard Extended XX | Finish
Push Reveal Push 75 us 28
Arm Assembly [ 95085-9XX | 95005-9XX 95025-9XX 79 DC 13

Page 2 of 16 November 2003 95299-084 REV. 0



REPLACEMENT PARTS AND SYSTEM COMPONENTS (continued)

Swing door
operator

Swing door
operator

Pullarm and
track assembly
95085-9XX

27” Pull System 27” Push System

(screw pack not shown) (screw pack not shown)

Swing door
operator

Swing door
operator

Insert

arm assembly
95005-9XX

Pullarm and

track assembly
95085-9XX
Full Length Pull System Full Length Push System
(screw pack not shown) (screw pack not shown)
Swing door

operator

ssembly
95005-9XX

ssembly
95005-9XX

Double Push System

(screw pack not shown)

95299-084 REV. 0 November 2003 Page 3 of 16



1. PRE-INSTALLATION SITE AND PRODUCT CHECK

1.1. Check that the product model is correct for the required application.
1.2. Checkthat all parts listed on the bill of material are in the shipping container.

1.3. Check architectural drawings and final approved shop drawings for position of frame and
structural openings.

1.4. Check header and frame dimensions and required clearances:

Clearances for 27” Pull System and Clearances for 27” Push System, Full Length
Full Length Pull System Push System, and Double Push System
. 4-3/4" > .~ 4-3/4" >

Tt el il o Celing
sy e e ) e Geiling sl e
S e S s A RER la SR A L
'Y L e e RS = ; EERINER S v S KRN v KR R
4 R AL RN BN REE AT e R Al e

2 Cla o 2 Noa o 2 o L i L M 2

4

3-5/32
>

»— 3-5/32"

S | = |

=D “ =\D| +»

i
— | —

4 — | | - i

|

|

i — f - n §
5 1o - = HE | R
@ 5/8 - g - 0-6” reveal
"I 15” maximum
1-3/8” frame face minimum 1-3/8” frame face minimum
1-7/8” top rail in door minimum 1-7/8” top rail in door minimum

1.5. Checkdoorwidth: 26" minimum for 27” push operator
30” minimum for 27” pull operator
36" minimum for full length push or full length pull operator

1.6. Check that door weightis 200 Ibs or less. For heavier doors, consult factory.
1.7. Checkthata 115 volt, single phase, 60 Hz, fused, 15 amp, 3-wire power supply is available
at the side jamb with approximately 12” of wire available to connect to the operator. UL

approved type flexible conduit is recommended for the 115 volt power line.

The 115 volt power supply must be a dedicated circuit from the main circuit breaker panel
and must not be connected into a building lighting system operating flourescent lights.

Page 4 of 16 November 2003 95299-084 REV. 0



2. OPERATOR INSTALLATION

2.1. Remove control box from operator mounting bracket, then remove motor/gearbox from bracket:

Control Box and Motor/Gearbox Removal
27” Pull, 27” Push, and Double Push Systems

|

[o 1 T1 1 [© S °°]

: — / Jee ol

7 [] ® ©

X Remove four (4) M6 nuts to remove / Remove two (2) PhillipsX

motor/gearbox from mounting bracket screws to remove control
(must remove control box first) box from mounting bracket

o
D|:||:f
o Lo
1
]

)
HM 0

Control Box and Motor/Gearbox Removal
Full Length Pull and Full Length Push Systems

5 o [ oﬁ@ ‘ B ©
<o) D EI —_— I [FD
O DH o ] —5T — / )

i

0 M

o 00 0o T o] 3 H [ [ O] g o
Z Remove two (2) Phillips screws \ Remove four (4) M6 nuts to j
to remove control box from remove motor/gearbox from
mounting bracket mounting bracket (must

remove control box first)

2.2. Prepare header/frame and door: 27” Pull System ................... see page 6
Full Length Pull System ....... see page 6
27" Push System................. see page 7
Full Length Push System .....see page 7
Double Push System............ see page 8

Low Ceiling Application........ see page 8

For push units with a reveal greater than 6” refer to the
installation sheet included in the extended arm packaging.

2.3. Install operator mounting bracket on header/frame. For full length systems, also install switch
bracket on header/frame.

2.4. |Install motor/gearbox on operator mounting bracket, then install control box on bracket.

2.5. Goto “Wiring” on page 9.

95299-084 REV. 0 November 2003 Page 5 of 16



Drill 1/2” hole in

1-5/8”

2. OPERATOR INSTALLATION (continued)

27” Pull System

Frame/Header and Door Preparation

fe—— 8-11/16" 8-11/16” 8-11/16" ————= Drill and tap for
1/4-20 screws
|=— 7/8" 8 places
O o < Y ! *
Ground — TSI 3-6132
stud ° i
o * pod * /O

jamb tube in ‘ n
this area for A2
low voltage
wire access
0 .,

f j i3
5/8” -
1-1/8"—m -
\\.\ \ m—
Bottom view,

door open

27-3/14”

Drill 7/8” hole in header in this
area for high voltage conduit

1/8” nominal —s={ ==—

Drill and tap for 1/4-20
screws, 2 places

Full Length Pull System
Frame/Header and Door Preparation

Center operator cover (with end caps removed) over opening and mark a vertical line at each
end. Align ends of operator mounting bracket and switch bracket with vertical lines and adjust
vertical position per diagram below. Mark and prepare mounting holes.

Drill and tap for
1/4-20 screws, 8 places

“\

Operator
cover \

Drill 7/8” hole in jamb tube in this
area for high voltage conduit

\ \

Bottom view, \
door open | \ |
i . NN [o & 5 O Switch O 5 ©
Drill 1/2” hole in ‘ ‘ T [ ]
@
amb tube inx Ground — bracket \&%’
this area for %, o + stud - 5
low voltage Q%
wire access \
o -©
1-1/4” to — 1-1/4" to r——
edge of » edge of .
gdoor e 27-3/4 door e
- Drill and tap for Drill and tap for -
1/4-20 screws 1/4-20 screws
2 places 4 places
Page 6 of 16 November 2003 95299-084 REV. 0



2. OPERATOR INSTALLATION (continued)

27” Push System

Frame/Header and Door Preparation

-~ 8-11/16"

. 8-11/16" 8-11/16" Drill 7/8” hole in
Drill and tap for jamb tube in this
1/4-20 screws area for high
8 places voltage conduit
Drill 1/2” hole i o © ° &
ri ole in
jamb tube in x Ground 3-5/32”
this area for stud \o@M
low voltage ) 1-7/16"— ® ) @_4+_
wire access +
L » . Drill and tap for *
1/8” nominal
r° o/_1/4-20 screws, 2 places 1-3/16
WTTW_‘]:ET 1-15/16" = r-—1718"
| ‘ \ “B” for butt hung or offset pivots ——————s=
' “C” for center pivoted door
\ Reveal | “B” | “C” || Reveal | “B” | “C” /—g|in%cas§te
i
0P 1 22" [ 27 e 19" | 247 si%?e
. > 217 | 267 5 18" | 237
BOttom VIew’ ” ” ” ” ” ”
door open 3 20" | 25 6 18" | 23

Full Length Push System
Frame/Header and Door Preparation

Center operator cover (with end caps removed) over opening and mark a vertical line at each
end. Align ends of operator mounting bracket and switch bracket with vertical lines and adjust
vertical position per diagram below. Mark and prepare mounting holes.

Drill 7/8” hole in jamb tube in this
area for high voltage conduit

— Drill and tap for
/ 1/4-20 screws, 4 places

Drill

and tap for

1/4-20 screws, 8 places

// / Drill 1/2” hole in
i i jamb tube in
i Switch bracket / Operator cover i fhis atha for
| Z | ow voltage
Gl = Ground study . ® o ® s © wire access
@) »
” 2} . » 5/8
58 ‘L—Tig@ ] o 118’ nommalj S . [1TME o 0% 0
— 1
i }
—= 1-1/4" to }7 ° .
edge of f il ‘ 115716 Bl kl&gg otfO
door ‘ “B” for butt hung or offset pivots — door
: “C” for center pivoted door
——Hinges
\ Reveal | “B” | “C” | | Reveal | “B” | “C” opp%site
N 108 o 23" | 28 3 20" | 25 side
ight Han - - - P > P »
Push System Bottom view, 1,, 22” 27" ,,4 " 19,, 24,,
Shown door open 2 21 26 5" or6"| 18 23
95299-084 REV. 0 November 2003

Page 7 of 16



2. OPERATOR INSTALLATION (continued)

Double Push System
Frame/Header and Door Preparation

Center operator cover (with end caps removed) over opening and mark a vertical line at each
end. Align ends of operator mounting bracket and switch bracket with vertical lines and adjust
vertical position per diagram below. Mark and prepare mounting holes.

Drill 7/8” hole in jamb tube in this Operator Drill 1/2” hole in header in this Drill 7/8” hole in jamb tube in this
area for high voltage conduit cover‘\ Karea for low voltage wire access area for high voltage conduit
i Drill and tap for 1/4-20 screws, 8 places Drill and tap for 1/4-20 screws, 8 places i
© o © s © o © o ©‘
ey 1 7/16 : 58" : 1-7116" LT
® - ] ° @ F ° ® )
L5/8

J ﬁ » L 1/4” to edge—»{ |=—
1-15/16" \ / 1-15/16" of door ref.
Drill and tap for 1/4-20 screws

r~— “B” for butt hung or offset pivots 2 places each door “B” for butt hung or offset pivots —
“C” for center pivoted door “C” for center pivoted door

_——Hinges opposite side

Reveal | “B” | “C” || Reveal | “B” | “C” Hinges opposite side —_
o 23" | 28" 3 20" | 25"
Bt . e 22" | 277 & 19" | 24" Bt .
ottom view, » » » » 2| 1a7 » ottom view,
door open 2 21" | 26 5or6"] 18" | 23 door open

Low Ceiling Application (27’ Push System Only)
Frame/Header and Door Preparation

8-11/16" 8-11/16" 8-11/16"——= Drill and tap for
1/8"—edee —1-9/16" 1/4-20 screws, 5 places
» e
3-5132 i L3/4,,
Drill and tap for 4- 29/32
i xwz" dia. hole 1/4-20 screws 1/8” gap typ. —— =
7/8"= for wire access 2 places

1-3/4” frame typ.

1-15/1 6”<l———

18-1/4” for butt hung or offset pivots ——— T p
L 23” for center pivoted door SRl e

\— Ceiling

— Top of frame J !

DoorJ

| ——— Side of frame

Page 8 of 16 November 2003 95299-084 REV. 0



CAUTION

» Make sure all wires are properly dressed and secured to prevent interference.
* Route all wiring away from moving parts, sharp edges, and heat sources.

» Use copper conductors only.

+ Do not modify the factory wiring or connect into existing electrical circuits or devices.

3.1. Referto the appropriate wiring diagram for the standard control box (page 10) or the
premium control box (page 11), and connect the following cables:

» Ground Cable (ground the operator properly with a separate green ground wire)
Hall Effect Cable (do not wrap the Hall Effect cable around the Motor Power cable)
* Motor Power Cable (do not wrap the Motor Power cable around the Hall Effect cable)
* Main Power Cable

» Control Box Power Cable

3.2. ConnectActivate, Safety, 3-Position Switch, and Lock accessories as needed. Refer to the
accessory instructions for any accessories used. Do not connect any remote activating
device to the door unless it is located within line of sight of the door. An SO Kit is required if
DC powered accessories are powered from the 17 VAC control box terminals.

3.3. When wiring is complete, go to “Arm and Cover Installation” on page 12.

“NO,” “NC,” and “AUX. ACT.” Circuits

* “NO”and “NC” are for a de-energized relay.

» Therelay is not energized when the 3-position switch is OFF and when the door is opening.
» Therelay is energized when the 3-position switch is setto AUTO and when the door is closed.

» Connect fail secure locks to “NC.”

» Connect fail safe locks to “NO.”

* The “AUX. ACT.” circuit is used for special applications only.

To Change Fuse

Remove Install
fuse fuse
A\ CAUTION q@v (@2
Replace fuse only S 5 _—Fuse
with the same type !
and rating fuse. = e,
> For clarity, not all
components are shown on
the control box PC board

95299-084 REV. 0 November 2003 Page 9 of 16



3. WIRING (continued)

Standard Control Box Wiring

O

For clarity, not all

components are shown on

the control box PC board  |[O

J8, 10-position
%/_ Control Box Power Cable

J1, 6-position
@/— Main Power Cable

m
\ E

J5, 2-position

Motor Power Cable

J3, 4-position
Hall Effect Cable

[el[e)[e)[e)(e)(e]

[e)(e](e]

:l

Plug cables into M
these receptacles

—

Control box
grounding stud

GREEN "
3-WAY 3-position switch | Ut Off 3-position
O BLACK key 84219900 Zvnvémsrlri‘;"@i"ridm
COMMON O focker 84220-900 ends before use
RED
3-WAY O Safety device
N.O. dry contact
SAFETY |() E
Multiple activation
COMMON O Activation device | devices should
N.O. dry contact | be connected in
MAINACT. | paralle
AUX.ACT. |
17 VAC Transformer or Electric lock,
power supply electric strike, etc.
ACC PWR —
no [O
c|O
N.O.orN.C.
NC O depending
upon device See explanation of “NO,”
“NC,”and AUX.ACT.”
O circuits on page 9.
@,
O
Page 10 of 16 November 2003 95299-084 REV. 0



3. WIRING (continued)

Premium Control Box Wiring

Ve
il

O

J8, 10-position
Control Box Power Cable

J1, 6-position
Main Power Cable

J5, 2-position
/Motor Power Cable
[mm}

J3, 4-position
4 Hall Effect Cable

H

For clarity, not all
components are shown on
the control box PC board

™~ [CloIclooOOCICoR0]

Plug cables intoy
these receptacles

—/

Control box
grounding stud

GREEN .
| . . Cut off 3-position
. O BLACK 3'-(233&0;1 5_“;'53“ zféti'lriiocv?r?wr
COMMON O focker 84220-900 ends before use
RED
3-WAY O Safety device
N.O. dry contact
SAFETY |() E
Multiple activation
COMMON O Activation device | devices should
N.O. dry contact | be connected in
MAINACT. | paralle
Strip SO Kit white wires
and connect to control box
AUX.ACT. O /terminal block as shown
WHITE REDDC +
17 VAC O 24V SO Kit Electric lock,
WHITE 95360-600 electric strike, etc.
AcC PWR |() —
no [O
C O BLACK DC - A NOTES
1. An SO Kitis required if DC
NC N.O.orN.C. powered accessories are
O u‘;%%egg{/'"ige powered from the premium
control box 17 VAC terminals.
O 2. See explanation of “NO,”
O “‘NC,”and AUX.ACT.”
O circuits on page 9.
95299-084 REV. 0 November 2003 Page 11 of 16



4. ARM AND COVER INSTALLATION

WARNING

KEEP HANDS, CLOTHING, WIRES, TOOLS,
ETC. AWAY FROM THE OPERATOR MOTOR
WHEN THE OPERATOR IS TURNED ON.

4.1. Make sure the operator power switch is turned off.
4.2. Install ajumper across the control box MAIN ACT. and COMMON terminals.
4.3. Turnon the operator power switch. The operator motor will activate to the full open position.

4.4. Attachthe arm to the operator spindle loosely with the 8 mm socket head screw.

Operator spindle

8 mm socket head screw —___

4.5. Attachthe arm to the door:

4.5.1. Forpush systems, attach the push arm shoe to the door.

Pusharm
— /
ZPus,h arm shoe

4.5.2. Forpull systems, slide the pull arm roller into the track, insert a track cap on each
end of the track, and attach the track to the door.

N
[l =
7]

Pullarm roller

Track cap %
/—Pull arm

Page 12 of 16 November 2003 95299-084 REV. 0



4.6.

4.7.
4.8.
4.9.

4.10.

4.11.
4.12.
4.13.
4.14.

4.15.

4. ARM AND COVER INSTALLATION (continued)

Adjustthe arm:
4.6.1. For pull systems, remove the locking screws in the arm.
4.6.2. For pull systems, remove the locking screws in the arm.
Pullarm Push arm
locking screws locking screw
4.6.3. Keep the doorin the full open position and adjust arm length as necessary with the
door in the full open position. When the arm is adjusted to the proper length, tighten
the 8 mm socket head screw that secures the arm to the operator spindle, then
tighten/install the locking screw(s) in the arm.
Turn off the operator power switch. The door closes.
Remove the jumper from the control box MAIN ACT. and COMMON terminals.
Test the operator (see “Operational Check” on page 14) and then continue with step 4.10.

Adjust the operator as required (see “Operator Adjustment” on page 15) and then continue
with step 4.11.

Snap end caps into the cover and secure with the two 6-32 round head screws provided.
Snap optional end cap insert (from screw bag) into the end cap opposite the on/off switch.
For full length systems, snap the insert into the arm slot that is not being used.

Install the cover assembly and on the operator.

Release the operator for service (see “Release for Service” on page 16).

/—Cover end cap

Coverend cap

Spindle insert

95299-084 REV. 0 November 2003 Page 13 of 16



5. OPERATIONAL CHECK

5.1. Setthe 3-position switch to AUTO and turn on the operator power switch.
5.2. Activate the operator using an activation device. The operator will perform one sizing cycle.

Sizing Cycle: Occurs when the door is activated for the first time after power has been
turned on. During the sizing cycle, the door opens and closes one time.

5.3. Ifthe door does not open at all during the sizing cycle:
* Check door for binds.

« If an electromechanical lock is being used, check that the lock disengages before the
operator opens the door.

» Check fuse(s), circuit breaker, and connections.

» Adjust the operator and check door operation (see “Operator Adjustment” on page 15):

Opening speed. ............. maximum

Back check speed........... maximum

Hold open time delay: ..... minimum

Back check position: ...... 50%

Latch position:................. maximum

Closing speed. ............... maximum

SWA1 #1,#2, #3, #4: ... off

5.4. Ifthe door does not open fully during the sizing cycle:
* Check door for binds.

» Increase the back check speed slightly and check door operation. Continue
increasing back check speed until the door opens fully.

5.5. Ifthe door slams open, decrease the back check speed slightly and check door operation.
Continue decreasing back check speed until the door opens without slamming.

5.6. Afterthe sizing cycle is complete and the door is closed, apply a maintained activation
signal and check that the door remains open while the activation signal is applied.

5.7. Ifadoor safety device is being used:

5.7.1. Activate the door and then activate the safety device while the door is open. The
door should not close while the safety device is activated. Next, deactivate the safety
device. The door should close after the hold open time delay expires.

5.7.2. With the door closed, activate the safety device, then activate the door. The door
should not open while the safety device is activated. Next, deactivate the safety
device. The door should open.

5.8. When the door is operating properly, continue with step 4.10 on page 13.

Page 14 of 16 November 2003 95299-084 REV. 0



6. OPERATOR ADJUSTMENT

See table below and diagrams on page 16 for operator feature adjustment. After adjusting, cycle
the door several times and check for proper operation, then continue with step 4.11 on page 13.

A NOTE

Adjust the operator for the slowest operation practical in accordance with
the latest revisions of Americans with Disabilities Act, ANSI/BHMA A156.19
Standard for Power Assist and Low Energy Power Operated Doors, and
local codes.

* Opening Speed: 3 sec or more + Latch Location: 10 degrees or more
* Closing Speed: 3 sec or more + Latch Speed: 1.5 sec or more

Feature Control Description Counterclockwise | Clockwise

Opening speed P1 Controls opening speed of any Slower Faster
normal weight and size door

Back check speed P2 Controls speed of door near full | Slower Faster
open position to prevent door
slamming open

Hold opentimedelay | P3 Controls length of time door Less time More time
remains fully open following an 1 sec minimum 30 sec maximum
activate signal, 1 to 30 sec

Back check position P4 Determines distance at which Less back check More back check
door begins to decelerate near
the full open position

Latch position P5 Determines distance at which Less latch More latch
door begins to decelerate near
the full closed position

Closing speed P6 Controls closing speed of any Slower Faster
normal weight and size door

Delayed activation SW1, #1 | When switched ON, causes a 1 sec delay between activation signal and
door opening; this allows time for most electric locks to disengage before
the operator opens the door

Push-N-Go SWH1, #2 | When switched ON, pushing door open 5 degrees causes operator to open
door for the remainder of the opening cycle

Power Boost SW1, #3 | When switched ON, electronically increases closing force of door from

(Premium Control 9 Ibs to 18 Ibs to close door against high winds or stack pressure; Power

Box only) Boost turns on for 5 sec after door comes to a stop at least 80 degrees

into its closing cycle

95299-084 REV. 0 November 2003 Page 15 of 16



6. OPERATOR ADJUSTMENT (continued)

Operator Adjustment Controls Door Position Definitions
Use tool stored For clarity, not all
on chassis to components are shown on

adjust controls the control box PC board Back check speed

/ Back check position

Opening
speed

See switch Latch position ——
case for

ON position Deceleration to fully
g closed position

7. RELEASE FOR SERVICE

7.1. Remove all tools, installation equipment, and debris from the vicinity of the door.

7.2. Install all safety, traffic control, and instruction decals on the door as required by the latest
revision of ANSI/BHMA A156.19. This is very important! Failure to do this leaves the
installer LIABLE for any accident that might occur. This must be done!

7.3. Verbally instruct the owner or person in charge of the proper operation of the door.

7.4. Instruct the owner or person in charge to routinely inspect the door for the following:

* Occasional damage
« Developing problems

* Minor preventive maintenance

7.5. Instruct the owner or person in charge who and where to call for service when required.

A IMPORTANT

Make sure to install all safety, traffic control,
and instruction decals on the door as required.

Page 16 of 16 November 2003 95299-084 REV. 0



@R Dor-0-Matic.

Benchmark Swing Operator

Installation Instructions

DOR-0-MATIC.

7350 W. Wilson Ave.
Harwood Heights, IL 60706

Toll Free: 1-800-543-4635
In lllinois: 708-867-7400
Sales FAX: 708-867-0291

www.doromatic.com

99101-084 Rev E February 2003 DA303



INTRODUCTION

This system is a fully automatic electro-mechanical swinging door operator for residential, commercial, and industrial pedestrian use. It
can be used to automate center pivoted doors, as well as hinged or offset pivoted doors.

This operator is a “start on demand”, “power-open/spring close” system. The swinging door is driven under power to the full open position,
at which time the electrical power is turned off and the door is closed by spring force only.

The opening and closing cycles of the door are under complete control at all times, as individual potentiometers or switches independently
control the opening speed, back check speed, hold open time delay, closing speed and latch position. In the event of a power failure, the operator
acts as a manual door closer (size 3) without fear of damage to the door or the automatic door components.

The activating circuit will re-open the door from any position in the closing swing, provided the safety circuit is not energized. The surface
applied operator may be installed for either push or pull applications on center pivoted, hinged, or offset pivoted doors. The basic components of
this system are the Operator & Cover Assembly, the Arm Assembly, and the Screw Bag (Figures 1, 5, 9, 14 & 19).

GENERAL

This instruction sheet covers the proper installation of surface applied operators for use on center pivoted, butt hung/hinged, or offset pivoted doors.
BEFORE proceeding with any stage of the installation...
A.  Check architectural drawings and final approved shop drawings for position of the frame and structural openings.
B. Check header & frame dimensions, making sure to allow for the proper clearances (Figures 2, 6, 10, 15, 20).
C. Check the content of the shipping container against the bill of material to see
that all necessary parts and materials have been included. Also, be sure that
the model is correct for the required application.

When additional accessories are used with this operator, refer to the instructions for those devices. | servicing or cleaning.
Tools required for installation:

D. Remove the motor/gearbox and control box to install the mounting plate (Figures 3, 7, 11, 16, 21).

E. Refer to proper diagrams in this manual for either Push Arm or Pull Arm installation.

F. This operator is for indoor use only. NOTE: Always disconnect

G. Do not mount any accessories directly onto this operator. main power to operator prior to
H.

I

10mm socket

10mm open end wrench
6mm allen wrench

Phillips screwdriver

Drill, drill bits & taps

Flat head electric screwdriver

-
SeLeLzse

INSTALLATION INSTRUCTIONS

1.  Preparation:
A 115 volt, single phase, 60Hz, fused, 15 amp, 3-wire power supply must be brought to the side jamb tube. This work is usually supplied by the
electrical contractor. UL approved type flexible conduit is recommended for running the 115 volt power supply into the operator. Determine the
location of the wire passage holes through the side jamb (Figures 4, 8, 12, 18, & 22). Approximately 12” of wire should be left for hook up.
NOTES:
A. Secure all conductors and connections against physical damage.
B. Route all wiring away from moving parts, sharp edges and heat sources.
C. Use copper conductors only.

Pre-Operational Adjustments:
Using the appropriate wiring diagram (Figure 25 for Standard or 26 for Premium) connect power and accessories as needed.
Select proper function using SW2: (Premium Control Box only)

Function 0: General Equipment — Any device not manufactured by Dor-O-Matic.

Function 1: 77700-900 No Beam.
C. Turn on power at the switch. After the first activation signal, the door should open and close one time, after which it is ready for normal
operation. If the door does not size to the full open position, first check for binds, then increase the sizing speed by rotating P7 clockwise on
the Standard Control Box or P8 counter-clockwise on the Premium Control Box just enough to overcome the door weight, etc.

>N

3. Operational Check and Adjustments:
NOTE: Refer to the latest revision of ANSI/BHMA A156.19-1997 Standard for Power Assist and Low Energy Power Operated Doors for all
settings and adjustments.

Latch Location: 10 degrees or more
Latch Speed: 1.5 seconds or more
Closing Speed: 3 seconds or more
Opening Speed: 3 seconds or more

A. Opening Speed Adjustment:

1. Opening speed is adjusted by rotating P1 (CCW=SLOWER, CW=FASTER) on the Standard Control Box or P2 (CW=SLOWER,
CCW=FASTER) on the Premium Control Box It allows for proper adjustment of any normal weight and size door.

2. Cycle the door open and closed several times and observe the opening speed.
NOTE: It is recommended that the door be operated as slow as is practical for the traffic conditions.

99101-084 Rev E February 2003 Page 2 of 15



B. Back Check Speed Adjustment:
The back check speed is controlled by rotating P2 (CCW=SLOWER, CW= FASTER) on the Standard Control Box or P3 on the Premium
Control Box (CW=SLOWER, CCW= FASTER).
C. Hold Open Time Delay Adjustment:
Adjustment is made by rotating P3 (CCW=LESS HOLD OPEN TIME, CW=MORE HOLD OPEN TIME) on the Standard Control Box or P1
(CW=LESS HOLD OPEN TIME, CCW=MORE HOLD OPEN TIME) on the Premium Control Box. The total adjustment range on the control box
is 1 to 30 seconds of time delay.
D. Back Check Position:
Standard Control Box: The adjustment is made by P4 (CW=MORE BACK CKECK, CCW =LESS BACK CHECK).
Premium Control Box: There is no adjustment available on the back check position, since the microprocessor in the control box sets the
proper back check position automatically while the door sizes itself.
E. Latch Position:
By rotating P5 (CW=MORE LATCH, CCW=LESS LATCH) on the Standard Control Box or P6 on the Premium Control Box, one can vary
the position at which latch occurs (CCW=MORE LATCH, CW=LESS LATCH).
F. Closing Speed Adjustments:
Continue to cycle the door open and closed while making adjustments. Set the closing speed by rotating P6 (CW=SLOWER,
CCW=FASTER) on the Standard Control Box or P7 (CW=SLOWER, CCW=FASTER) on the Premium Control Box.
G. Latch Speed:
Latch speed is factory set and has no adjustment.
H. Power Boost Close and Power Boost Hold Features (Only available with Premium Control Box):
1. This is a built in feature that can be turned on or off with SW1-3.
2. When this feature is on, it can be set for 5 second power only.
3. ltis used to electronically increase the closing force of the door from 9 Ibs. to 18 Ibs. in order to close and hold the door closed
4.

against high winds or high stack pressure.
When the power boost close and hold feature is turned on, the automatic increase in power occurs approximately 7 seconds after the
door has closed to the latch position. The power boost feature will not turn on during the first 80 degrees of the closing door travel.
Push-N-Go Feature:
With this feature, after three to five degrees of manual door travel, power assist takes over and the door opens under power the rest of the
cycle. This is selected with SW1-2.
Delayed Activation Feature:
When delayed activation is selected, there is a 1 second delay between reception of the activation signal and the actual door opening.
This allows for most electric strikes, panics, etc. to disengage before the door opens. This is selected with SW1-1.

4. Operational Walk Through Test:
NOTE: Itis assumed that during the installation process, any problems would have been found and corrected before this point. However, it
is recommended that a complete walk-through test now be performed.
A. Activate door operator. The door should open smoothly and silently to the back check point, where it should slow down and drift into full
90 degrees open without slamming.
B. Maintain the activation signal to ensure that the door does not time out and close while being activated.
C. |Ifadoor safety device is used, step on through the door opening and into the safety area. Again, remain in the safety area making sure
D

that the door does not close while the safety area is occupied.

Step out of the safety area. After both the activating and safety areas are clear, the door should time out at the pre-set time delay period.

The door should then close quietly and smoothly to the latch point, where it slows down and drifts into the fully closed position without

slamming.

Safety Function with the Door Closed

Step back into the safety area, and have someone else activate the door. The door must not open.

1. Step out of the safety area. The door should open fully. Have the other person release the activation signal. The door should stand
open until the end of the time delay cycle, and then close as before.

nm

5. Release of the System for Service:
A. Remove all tools and installation equipment, and clean any debris from the vicinity of the door.
B. Install all safety, traffic control, and instruction decals to the door as required by ANSI 156.19-1997. THIS IS VERY IMPORTANT! Failure
to do this leaves the installer LIABLE for any accident that might occur. THIS MUST BE DONE!
C. Verbally explain the proper operation of the door system to the owner or to the person in charge.

99101-084 Rev E February 2003 Page 3 of 15



DO’S AND DON’TS

—_

©COeNoOoOhr~WN

Do use this operator on standard pedestrian doors, exterior and interior, weighing up to 200 pounds. For doors greater than 200 pounds, consult
factory.

Do Not connect any remote activating device to the door unless it is located within the "line of sight” of the door.

Do Not use a fuse larger than specified.

Do Not modify the factory wiring or connect any wiring into an existing electrical circuit or any other electrical device.
Do Not connect the 115 volt power supply line into the building lighting system operating FLUORESCENT LIGHTS.
Do Not mount any accessories directly to this operator.

Do make certain that the operator is connected to a dedicated 115 volt circuit from the main circuit breaker panel.
Do make certain that the operator is properly grounded with a separate green wire.

Do make certain that all connections are proper and secure before turning the power on.

. Do make certain that all wires are properly dressed and secured to prevent any interference.

. Do make certain that all safety labels and instruction decals relating to door operation are properly applied to the door before leaving the job.
. Do verbally instruct the owner or person in charge of the proper operation of the door.

. Do make certain that this operator is only used indoors.

. Do disconnect main power to the operator prior to servicing and cleaning.

. Do instruct the owner or person in charge of his responsibility of inspecting the door for the following:

Occasional damage

Developing problems

Minor preventative maintenance

Who and where to call for service when required

Oow>

REPLACEMENT PART LIST

Part

27" header Full Length Header Single Full Length Double

Standard Control Box 99402-900 99402-900 99402-900

Premium Control Box 99401-900 99401-900 99401-900

Gear Box 99403-900 99404-900 99403-900

Cover 95171-9XXR 99201-9XXR 99201-9XXR

Insert N/A 99067-9XX N/A

End Caps 99060-900 99060-900 99060-900

Arm Assembly 95005-9XX 95025-9XX 95085-9XX

Standard Push Extended Reveal Push Pull

Note: 75- US 28

79-DC 13

99101-084 Rev E February 2003 Page 4 of 15



27” Push Arm

1 3/8" FRAME FACE (MIN.)
1 7/8" TOP RAIL IN DOOR (MIN.)

SWING DOOR
OPERATOR

/‘CEILING
!
3 5132“ ?\A\SI{JUGM
}4 [ j
13/16” s “ ‘ : Tn‘
! 7/16" J - 0-6" REVEAL -
PUSH ARM 15" MAX.
ASSEMBLY
95005-9XX
FIGURE 1: SYSTEM COMPONENTS - PUSH ARM FIGURE 2: OPERATOR CLEARANCES - PUSH ARM
1. REMOVE TWO PHILLIPS SCREWS
115 VOLT INPUT TO REMOVE CONTROL BOX FROM
TERMINAL BLOCK MOUNTING BRACKET.\
[O [ ] ‘ ‘ [ e & ® o]
NN \
@
| _ il by

NOTE: THESE TWO NUTS
CANNOT BE REMOVED UNTIL

THE CONTROL BOX IS REMOVED.
2. REMOVE FOUR M6 NUTS

TO REMOVE MOTOR/GEARBOX
FROM MOUNTING BRACKET.

FIGURE 3: MOTOR/GEARBOX & CONTROL BOX REMOVAL

DRILL & TAP FOR DRILL 7/8” HOLE IN
1/4-20 SCREW (8 PLACES) JAMB TUBE IN THIS AREA
FOR HIGH VOLTAGE
CONDUIT
DRILL 1/2” HOLE 8 11/16” 8 11/16” 8 11/16" — mf
Y ) IN HEADER IN GROUND
‘ { THIS AREA FOR STUD
\\ _LL CLOSED ‘ \‘\ LOW VOLTAGE »
\ | | WIRE ACCESS 7/8 =
i g b— — 3 5/32”
THESE VIEWS ARE SHOWN ° NOTE STUD/
LOOKING UP AT OPERATOR ORIENTATION @M 13/16"
e i RN R S
b 1 LA
\\ ‘\\ 1787} f
\ \ NOM. T4 7
| | »
i \ 17716 - L1 15/16"
8" FOR BUTT HUNG or Reveal| "B" ["C"
OFFSET PIVOTS 1 o | 27"
l=———— "C” FOR CENTER PIVOTED DOOR ——=| o 21" | 26"
3" 20" | 25"
DRILL & TAP FOR W . w
1/4-20 SCREWS (2 PLCS) 4 19" |24
v 18" | 23"
FIGURE 4: OPERATOR INSTALLATION — PUSH ARM 6" 18" | 23"

Installation and Arm Adjustment Notes:

1.
2.
3.

4.

Noo

Remove the control box and motor/gearbox from the mounting bracket (Figure 3).

Mounting bracket must be installed with the thread studs near the hinge to ensure correct operator orientation.

After installing the mounting bracket on the header or frame, install the motor/gearbox onto the studs with the 4 nuts provided and then install the
control box onto the mounting bracket with the 2 flat head screws provided.

Push the 4 prong green plug into the green socket, push the 2 prong green plug into the green socket and the 3 prong green plug into the socket
marked “main, ground, neutral”.

Connect power to the terminal block (Figure 3), matching black to black (live), white to white (neutral), and ground to the grounding stud.

Connect all activation devices in parallel to the “Activate” and “Common” terminals (Figure 25 for Standard, 26 for Premium).

Before attaching the arm to the unit, activate the operator to the full open position by placing a jumper wire across the “Inside Activation” terminals
to put the operator in the hold open position. Attach the shoe to the door. Attach the arm to the operator with the 8mm socket head screw (loosely)
and adjust the arm to the desired door position together with the shoe. Once the desired position has been chosen, tighten both the 8mm socket
head screw and the nut connecting the two parts of the arm. Remove the jumper wire.

Snap the end caps into the cover and secure with the (2) 6-32 round head screws provided. Snap in the optional end cap insert (provided in the
screw bag) on the end cap opposite the on/off switch.

Install the entire cover assembly and the spindle insert with the screws provided.

Minimum door width for a push arm is 26 inches.

99101-084 Rev E February 2003 Page 5 of 15



27” Pull Arm

1 13/16” FRAME FACE (MIN.)
17 TOP RAIL IN DOOR (MIN.)

/ CEILING

SWING DOOR
OPERATOR

?

3 5/32"

!

juy
5/8"

5/8" 4

MINIMUM

PULL ARM AND SCREW BAG NOT SHOWN

TRACK ASSEMBLY

1/8” MAX. REVEAL

95085-9XX
FIGURE 5: SYSTEM COMPONENTS - PULL ARM FIGURE 6: OPERATOR CLEARANCES - PULL ARM
1. REMOVE TWO PHILLIPS SCREWS
115 VOLT INPUT TO REMOVE CONTROL BOX FROM
TERMINAL BLOCK MOUNTING BRACKET. \
o | T Ir—— (jps o] F Gl
NN \
1O ] "
\ — = — o

NOTE: THESE TWO NUTS
CANNOT BE REMOVED UNTIL

THE CONTROL BOX IS REMQVED.
2. REMOVE FOUR M€ NUTS

TO REMOVE MOTOR/GEARBOX
FROM MOUNTING BRACKET.

FIGURE 7: MOTOR/GEARBOX & CONTROL BOX REMOVAL

DRILL 1/2” HOLE IN
JAMB TUBE IN THIS AREA

FOR LOW VOLTAGE DRILL & TAP FOR
WIRE ACCESS 1/4-20 SCREW (8 PLCS)
8 11/16” 8 11/16” 8 11/16” DRILL 7/8” HOLE IN
HEADER IN THIS AREA
GROUND FOR HIGH VOLTAGE
| =-7/8" STUDN CONDUIT
—35/32"
©
NOTE STUD/ @5
: \ ORIENTATION \ [IITH
\ \ B ® © ) o 1/8”
THESE VIEWS ARE SHOWN + FNOM.
LOOKING UP AT OPERATO i
‘ 1 5/8” 3 J \ »l
5/8 DRILL & TAP FOR
\ 1 1/4-20 SCREW (2 PLCS)
\ \ 27 3/4”
\ CLOSED \ 11/8” —=f =
\ S

FIGURE 8: OPERATOR INSTALLATION - PULL ARM

Installation and Arm Adjustment Notes:

1. Remove the control box and motor/gearbox from the mounting bracket (Figure 7).

2. Mounting bracket must be installed with the thread studs away from the hinge to ensure correct operator orientation.

3.  After installing the mounting bracket on the header or frame, install the motor/gearbox onto the studs with the 4 nuts provided and then install the
control box onto the mounting bracket with the 2 flat head screws provided.

4. Push the 4 prong green plug into the green socket, push the 2 prong green plug into the green socket and the 3 prong green plug into the socket

marked “main, ground, neutral”.

Connect power to the terminal block (Figure 7), matching black to black (live), white to white (neutral), and ground to the grounding stud.

Connect all activation devices in parallel to the “Activate” and “Common” terminals (Figure 25 for Standard, 26 for Premium).

Before attaching the arm to the unit, activate the operator to the full open position by placing a jumper wire across the “Inside Activation” terminals

to put the operator in the hold open position. Attach the track to the door. Attach the arm to the operator with the 8mm socket head screw (loosely)

Noo

99101-084 Rev E February 2003 Page 6 of 15



and adjust the arm to the desired door position together with the track. Once the desired position has been chosen, tighten the 8mm socket head
screw. Remove the jumper wire.

Snap the end caps into the cover and secure with the (2) 6-32 round head screws provided. Snap in the optional end cap insert (provided in the
screw bag) on the end cap opposite the on/off switch.

9. Install the entire cover assembly and the spindle insert with the screws provided.

10. Minimum door width for a pull arm is 30 inches.

Full Length Push Arm

1 3/8" FRAME FACE (MIN.)
17/8" TOP RAIL IN DOOR (MIN.)

[cmmc
43—
INSERT

SWING DOOR
OPERATOR

3 5(32" z 41/2 fmrgucus»:
JfLi i J ‘
1 3/16" L ‘\ \ ‘ : -
1118 = 0-8” REVEAL -
95005-9XX
FIGURE 9: SYSTEM COMPONENTS — PUSH ARM FIGURE 10: OPERATOR CLEARANCES — PUSH ARM

115 VOLT INPUT 1. REMOVE TWO PHILIPS
TERMINAL BLOCK SCREWS FROM CONTROL BOX

FROM BRACKET

= e

2. REMOVE FOUR M6 NUTS TO
REMOVE MOTOR/GEARBOX FROM
MOUNTING BRACKET

FIGURE 11: MOTOR/GEARBOX & CONTROL BOX REMOVAL

AS SHIPPED OR
2 1/2”7 LONGER THAN OPENING

[COVER WITHOUT END CAPS

-
:
©

o & ;

(6% . o ¢ ® 8 ° #
5/8” ? ‘ — ? /8"
1.1/4” 10
EDGE OF DOOR
REFERENCE
USE COVER AS TEMPLATE
ALIGN PLATE ENDS
WITH END OF COVER TO DETERMINE
DRILLING LOCATIONS
HINGES
OPPOSITE
SIDE
FIGURE 12: CENTERING OPERATOR OVER OPENING
99101-084 Rev E February 2003 Page 7 of 15



DRILL 7/8” HOLE IN

.\ JAMB TUBE IN THIS AREA
?GILJWI{ZTUBHEOITE RIGHT HAND PUSH DRILL & TAP FOR FOR ﬁg{vfégégg
. THIS AREA FOR YA ATTACH GROUND WIRE
\ \ HIGH VOLTAGE SWITCH BRACKET
e L CONDUIT \ . [
| [ CLOSED [} K3 rs . F—y F T &
L \ ]
\THESE VIEWS ARE SHOWUN \ @@ +
LOOKING UP AT OPERATOR 5/8" nd - & - " ¢ ¢ a2 hd é‘ 5/8"
| : el T 1/4" 10
Iy gl 1 1/4” 70 EDGE OF DOOR 18" | 1 7/16 L . EDGE OF DOOR
} /||\ OPEN ; PLUG INTO NOM. ™ 115/18
| i CONTROL BOX -
' ! B” FOR BUTT HUNG or o | e
/ \ OFFSET PIVOTS Reveal| "B" |"C
/‘ \ f=———— "C" FOR CENTER PIVOTED DOOR ———= 0 23" |28
I - 1 20" | 27"
DRILL & TAP FOR m n n
1/4-20 SCREWS 2 21" | 26
(2 PLACES) 3" 20" | 25"
2 19" | 24"
G 18" | 23"
FIGURE 13: OPERATOR INSTALLATION — PUSH ARM 6" 18" [ 23"

Installation and Arm Adjustment Notes:

1.
2.
3.

4.

©oN

10.

11.
12.

Remove the control box and motor/gearbox from the mounting bracket (Figure 11).

Center operator over opening (Figure 12)

Mounting bracket must be installed with the thread studs near the hinge to ensure correct operator orientation. Mount switch bracket as shown
(Figure 13).

After installing the mounting bracket on the header or frame, install the motor/gearbox onto the studs with the 4 nuts provided and then install the
control box onto the mounting bracket with the 2 flat head screws provided.

For opposite side door, view will be mirror image of Figure 13.

Push the 4 prong green plug into the green corresponding socket, push the 2 prong green plug into the corresponding green socket and the 3
prong green plug into the socket marked “main, ground, neutral” located on the mounting screw side of the control box.

Connect power to the terminal block (Figure 3), matching black to black (live), white to white (neutral), and ground to the grounding stud.

Connect all activation devices in parallel to the “Inside Activate” terminal (Figure 25 for Standard, 26 for Premium).

Before attaching the arm to the unit, activate the operator to the full open position by placing a jumper wire across the “Inside Activation” (loosely)
and adjust the arm to the desired door position together with the shoe. Once the desired position has been chosen, tighten both the 8mm terminals
to put the operator in the hold open position. Attach the shoe to the door. Attach the arm to the operator with the 8mm socket head screw socket
head screw and the nut connecting the two parts of the arm. Remove the jumper wire.

Snap the end caps into the cover and secure with the (2) #6 round head screws provided. Snap in the optional end cap insert (provided in the
screw bag) on the end cap opposite the on/off switch. Install plastic insert in arm slot not being used.

Install the entire cover assembly and the spindle insert with the screws provided.

Minimum door width for a push arm is 36 inches.

Full Length Pull Arm

1 13/16” FRAME FACE (MIN.)
1 TOP RAIL IN DOOR (MIN.)

CEILING

SWING DOOR ~—43/i—=
OPERATOR
f ” »
3 5(32 .
=
15/8" T
5/3"J -
1/8” MAX. REVEAL
PULL ARM AND SCREW BAG NOT SHOWN
TRACK ASSEMBLY
95085-9XX
FIGURE 14: SYSTEM COMPONENTS — PULL ARM FIGURE 15: OPERATOR CLEARANCES — PULL ARM

99101-084 Rev E February 2003 Page 8 of 15



115 VOLT INPUT 1. REMOVE TWO PHILIPS
TERMINAL BLOCK SCREWS FROM CONTROL BOX
FROM BRACKET

i e T TS Te
& ¢§ \9‘@\% L= ﬂ‘ Qi\m 5
j_n‘:ﬂ t %
1= Bl
i N 3
@ & i%_w L T B
Ei=s
2. REMOVE FOUR M6 NUTS TO
REMOVE MOTOR/GEARBOX FROM
MOUNTING BRACKET
FIGURE 16: MOTOR/GEARBOX & CONTROL BOX REMOVAL
AS SHIPPED OR
2 1/2" LONGER THAN OPENING
/CO\/ER WITHOUT END CAPS
; 1 - :
& - & & & - &
% [o « &+ & ‘*{}é
11/87 [ ‘ ‘
11/4" 10
EDGE
OF DOOR

USE COVER AS TEMPLATE
ALIGN ENDS TO END OF COVER TO
DETERMINE DRILLING LOCATIONS

FIGURE 17: CENTERING OPERATOR OVER OPENING

HL DRILL 1/2” HOLE IN
K3

JAMB TUBE IN THIS AREA

FOR LOW VOLTAGE DRILL 7/8” HOLE IN
WIRE ACCESS ) JAMB TUBE IN THIS AREA
Right Hand Pull PLUG INTO FOR HIGH VOLTAGE

CONTROL BOX CONDUIT

\ o 0 DRILL & TAP FOR 1/4-20 UNC DRILL & TAP FOR 1/4-20 UNC
\ \\ 8 PLACES
\ OPEN \ iS\WHCH BRACKET
\ \ : ‘ ‘ ‘ \§
ATTACH GROUND
THESE VIEWS ARE SHOWN 2 v @ = A = |
LOOKING UP AT OPERATOR =
T Q‘?. ‘ < ¢ ‘ P ‘ o & @ i
A\ ‘ | 1 1/8
\\1 1/4" T 2 =1
\ EDGE OF DRILL & TAP FOR "
\ DGR 1/4-20 SCREW (2 PLACES) PR7AL
27 3/4” OF DOOR
11/8” -

FIGURE 18: OPERATOR INSTALLATION - PULL ARM
99101-084 Rev E February 2003 Page 9 of 15



Installation and Arm Adjustment Notes:

1.
2.
3.

4.

10.

11.

Remove the control box and motor/gearbox from the mounting bracket (Figure 16).

Center operator over opening (Figure 17).

Mounting bracket must be installed with the thread studs away from the hinge to ensure correct operator orientation. Mount switch bracket as
shown (Figure 18).

After installing the mounting bracket on the header or frame, install the motor/gearbox onto the studs with the 4 nuts provided and then install the
control box onto the mounting bracket with the 2 flat head screws provided.

For opposite side door, view will mirror Figure 18.

Push the 4 prong green plug into the green corresponding socket, push the 2 prong green plug into the corresponding green socket and the 3
prong green plug into the socket marked “main, ground, neutral” located on the mounting screw side of the control box.

Connect power to the terminal block (Figure 16), matching black to black (live), white to white (neutral), and ground to the grounding stud.
Connect all activation devices in parallel to the “Inside Activate” and connect all outside activation devices in parallel to the “Outside Activation”
terminal (Figure 25 for Standard, 26 for Premium).

Before attaching the arm to the unit, activate the operator to the full open position by placing a jumper wire across the “Inside Activation” terminals
to put the operator in the hold open position. Attach the track to the door. Attach the arm to the operator with the 8mm socket head screw (loosely)
and adjust the arm to the desired door position together with the track. Once the desired position has been chosen, tighten the 8mm socket head
screw. Remove the jumper wire.

Snap the end caps into the cover and secure with the (2) #6 round head screws provided. Snap in the optional end cap insert (provided in the
screw bag) on the end cap opposite the on/off switch. Install plastic insert into arm slot not being used.

Install the entire cover assembly and the spindle insert with the screws provided.

Minimum door width for a pull arm is 36 inches.

Double Push Arm

1 3/8" FRAME FACE (MIN.)
1 7/8" TOP RAIL IN DOOR (MIN.)

SWING DOOR
OPERATOR

/- caune
| |
35/32 v
|
S
13716 1 L ‘ -
17/167 3 = 4 3/4” MAX. REVEAL -
FASSEMBLY 17
95005-9XX
FIGURE 19: SYSTEM COMPONENTS - DOUBLE PUSH ARM FIGURE 20: OPERATOR CLEARANCES-PUSH ARM

1. REMOVE TWO PHILLIPS SCREWS
115 VOLT INPUT TO REMOVE CONTROL BOX FROM
TERMINAL BLOCK MOUNTING BRACKET. \

Ik

o S a— "b o

NOTE: THESE TWO NUTS
CANNQOT BE REMOVED UNTIL

THE CONTROL BOX IS REMOVED.
2. REMOVE FOUR M6 NUTS

TO REMOVE MOTOR/GEARBOX
FROM MOUNTING BRACKET.

FIGURE 21: MOTOR/GEARBOX & CONTROL BOX REMOVAL

99101-084 Rev E February 2003 Page 10 of 15



G1Jo 11 98eq

€007 Areniqaq

q A9 $80-10166

NV HSNd 379N0A -NOILLVTIVLSNI J01vi3dO €2 JHNOId

(S30v1d 7) SMINOS 0Z-¥/1
404 dvl ® TIRKG

~——— Y000 Q3L0AId 43IN3D ¥04 .

S10AId 135440
40 ONNH 11Ng ¥04 8.

(S30v1d 2) SMINOS 0Z-¥/1
¥04 d¥L ® TING

j OL/sE L !

4000 G3L0AId ¥3INID ¥04 O, —

SLOAId 135440
40 ONNH LLNA ¥04 .8,

| i 1 i i
_mu___ @ ﬂ E ) @ o © f ° ® ol - @ o ® e @ ﬁ ﬁ @ _W_
YOLV¥IMO LV dN ONINOOT %@ ﬁ% ¥OLVY¥IdO LV dN 9ONIMOOT

. NMOHS 3V SM3IA 3SIHL Q ° ° ° o .7 s . ° o ® ° 5 NMOHS 34V SMIIA 3SIHL
n 1y i Q ;
7 S30Vd ¥ y SSA00V FAIM muo<.,n_\¢ 7

ONN 0Z-%/1 30V1T0A MOT ONN 0Z-%/1
7 a3s019 4&\ 404 dVL ANV T11Ha Y04 V34V SIHL 404 dV1 ANV TTRa iﬂ« @3s010 7
NI 330V3H NI
304 2/} TTNa
1InANOD 1INaNOD

.£2] .81
£z .81 a1
JC| .61 311S0dd0
.Sz | .02 SIONIH
W92 | ulT
JLzlwee | o | ’
.82 .82 .0

.. [[Eenay

ERN\EREEER]

4000 40 3903

oL ¥/}

«8/% , , ,
=3 o L3 + &
©
o ¢ < & & .

3OVLI0A HOIH 404
V3dV SIHL NI 38NL 8AVP
NI 3I0H 8/ TI¥a

(S30v1d 8) M3¥OS 0Z-7/1
¥04 d¥L ® TI¥Q

(S30v1d 8) MI¥OS 0Z-7/L
404 dvl ® TING

39VLI0A HOIH 404
V3§V SIHL NI 380NL 8AVP
NI 3I0H .8/ TI¥a

ONIN3IdO ¥3A0 SHOLVYIdO ONILVIO0T :2Z dNOId

SNOILVOOT ONITTI4d 3ININY313d
Ol ¥3A00 10 ONF HLIM

SAN3 31Vid NOv

J1VIdN3L SV d43A00 3SN

3ais
311IS0dd0
SIONIH

SdvO dN3 INOHIIM ¥3A0D

HION3T ¥3A0D

ONINIJO NVHL ¥39NO1 ,2/1 ¢




Installation and Arm Adjustment Notes:

1.

Remove the control boxes and motor/gearboxes from the mounting brackets (Figure 21).

2. Mounting brackets must be installed with the thread studs near the hinges to ensure correct operator orientation.

3.  After installing the mounting brackets on the header or frame, install the motor/gearbox onto the studs with the 4 nuts provided and then install the
control box onto the mounting bracket with the 2 flat head screws provided.

4. Push the 4 prong green plug into the green socket, push the 2 prong green plug into the corresponding green socket, attach ground wire plug, and
the 3 prong green plug into the socket marked “main, ground, neutral” located on the mounting screw side of the control box.

5. Connect power to the terminal block (Figure 21), matching black to black (live), white to white (neutral), and ground to the grounding stud.

6. Connect all activation devices in parallel to the “Inside Activate” and connect all outside activation devices in parallel to the “Outside Activation”
terminal (Figure 25 for Standard, 26 for Premium).

7. Before attaching the arm to the unit, activate the operator to the full open position by placing a jumper wire across the “Inside Activation” terminals
to put the operator in the hold open position. Attach the shoe to the door. Attach the arm to the operator with the 8mm socket head screw (loosely)
and adjust the arm to the desired door position together with the shoe. Once the desired position has been chosen, tighten both the 8mm socket
head screw and the nut connecting the two parts of the arm. Remove the jumper wire.

8. Snap the end caps into the cover and secure with the (2) #6 round head screws provided. Snap in the optional end cap insert (provided in the
screw bag) on the end cap opposite the on/off switch. Install the entire cover assembly and the spindle insert with the screws provided.

Low Ceiling Application
-~ 8 11/16" — e 8 11/16” — e 8 11/16” — =t DRILL & TAP FOR
7/8” 1/4-20 SCREW
A ., (5 PLACES)
1/8 —19/16 3/4°
4 + + e t
? 1/2” DIA. HOLE
e 4 29/32”
3 5/32” FOR WIRE ACCESS
[ DRILL & TAP FOR
4 — 1 1/4-20 SCREW
— »j (2 PLACES)
115/16” {—
e N N N
18 1/4” 1/8” 6AP _ |l
r+————— FOR BUTT HUNG or TYP.
23" FOR CENTER TYP.

99101-084 Rev E

PIVOTED DOOR

Note: Only 27” Push Arm
may be used in this
application

\ SIDE OF

FRAME

FIGURE 24: INSTALLATION TEMPLATE FOR LOW CEILING APPLICATION - PUSH ARM ONLY

February 2003

Page 12 of 15



G1Jo €1 a8eq

ONIYIM XO04d TOYULNOD QUVANVYLS ¢ FANOId

€007 Areniqaq

q A9 $80-10166

EIEIEIE]

[EIE

Hovia
a3y 103443
TIVH
N33yo 4OLON
MOTT3A
3LIHM ¥IMOd
NMONE 4OLON
| NIV
1NdNI
A aNNOYo SIMOd
¢ IVHLNAN

HOLIMS
AVM 33dHL

AL3AVS
NOWNWOQD
ALVAILDV

ALVAILOV XNV

[olelolelele]9]

o

XYW V¥ ‘00A8Z ‘O'N
TONLNOD
AYOSSI0IV NOWHWOD
21810313 3N

Q3AV130 NOILVAILDY VAYON 1
NO 09-N-HsNd 110 7 [7ezl
aasn 1oN ¢ m m m m
« a3sn 10N 4 7 e NG
4+ - 8d
a3sn LoN S}
+ - 7d
oNIZIS @
-+  g33ds Iso1o M
(9N1¥dS) @
+2 NOILISOd o
HOLV ®
+ NOILISOd e
M03HO MovE ®
4+ - cd
AV13Q 3L
N3dO d10H ®
+ a33ds o
O o3Ho xova ®
+ - Td
() 033ds N3do @
SINIWLSNray

T

"ISN IH043I8 G3ddIILS SONI MM
ONY 440 1ND 38 LSNW ¥OLIINNOIx
006-022v8 3004
006-61278 AIA
*HOLIMS NOILISOd-¢

LOVINOD Add "O'N
32IA3A AL34VS

LOVINOD Add "O'N
32IA3A NOILVAILOY

1OVINQD A¥0 "O'N
(AYLNI ONINYOW ‘WIVIV)
32I1A3a NOILVAILOY
ASVITIXNY

AlddNS ¥3mod
40
JINYOASNVHL

013
YIS 21410373
*MJ07 21410313

Xog |043u09) piepuels




S1Jo 1 o8ed €007 Areniqaq q A9 $80-10166

ONIIIM X049 TOYMLNOD NNINT¥d 92 FANOId

Y3ILSVA=MOD  ¥IMOIS=MI "LNIANLSNrAV d33dS 3SOTI (ONI¥dS) i4d
'NOIS¥3IA SIHL NI @3sn 1ON :Gd

AV3IE ON CL—ONIMS=1 INININDI JI¥ANIO=0 "HOLIMS ¥Q1D3TIS NOILONNA ZTMS 'NOISY3IA SIHL NI @3Sn LON :vd
'NOISNIL ONIddS FANOJY3IA0 OL AINO d3A33IN SV LSNrav  "NOILISOd ‘NOISN3L ONI4dS INQDYIA0 OL AINO (Q3033N SV
NOISN3L HOIH OL L3S S| 9NIddS SSIINN Lsnrav 1ON 0d  "IN3INLSNrdv ONIZIS :8d 1Snrav  "ONILLIS WNWIXVAN Ol SIHL L1sSnrav LON od
3NIL N3IdO QT70H 3IYON=MOID 3INIL N3IdO d10H SSIT=MO "LNIANLSNrav Avi3a 3JNIL -id JILSVI=MOD dIMOTIS=MO “INIFALSNrav d33dS MO3IHOMOVE :¢d
HOL1V1 JH4OWN=MI HOLV1 SSI1=MOJ "INIWNLSNrdv NOILISOd HIOLV1 :9d Y3LSVA=MOD dIMOIS=MD "INIWLSNrdv AQ33dS N340 :<d
er @
103223 © ddvod 13A3T dOL Thoums | < *3SN 340438 Q3ddI¥LS SANI WM
(SAV13@ INIL TYNY3LXI 404 ATIN SILVNIWITI) TIVH © M | ~ N3O NV 140 10D 38 1SAW HOLOINNOOx
SINIYLS ¥O SOINVA OI¥LOITI HLIM 3SN ¥04 NOILVAILOY Q3AV13Q s Q b0 s ovia 006—022¥78 ¥IND0Y
IYHYON NOILVAILOV QaAv1Id V| |~Cmmg ﬁoM;m Wvig Q o3 006—612¥8 AIM
440 9-N-d NO Z| (oCmm| || WYIE ON ZL-ONIMS L
140 15008 43MOd NO ¢| [wemm | |2(2)2]  IN3maino3 omanas o AL34vs [S) *HOLIMS NOILISOd—¢
aNO2J3s § 15008 ¥3M0d SNONNILNOD ¥ -~ oo%*ﬁé NMOSNIS @
- C- AL3IVS Q
ONIZIS AVI30 3MIL - @
SINA S
NOILISOd HOLYT Summumwm% INOZ/H0D Q
. S
JLVAILOY Q
301510 Q
ILVAILOY S
Q33dS MO3HONOVE @33ds N3do J0IEN! b
HOLIMS [Sm
AVMYIVINE | ?H_
d3dnnr
HOLIMS 0078 TYNINNIL
A > SLHM—TVaLNIN EITT SIRM=TVALAIN
> N3TO—HLEVI J NEERERIRTE]
— > SOVIE-NIVA SoviE SOVIE-NIVA
009-¥80/8| (009-280/8
asn4 asn4 EEDAERL anis aNnows
ve'z vz 1IN0¥I
Ve
advo8g 13A37T wollod g
—~
™~ S
¥imod  OVA Ll S 30IA3A NOILVAILOVY 1OVINOD
MES] AdQ ‘NIdO ATIVAYON ANV
Gl = "SNY WNWIXYA V101 ¥amod - OGN Fe + ©
LS = 3UN03s V4 + PAFLS J1dL0373
2aA ve 21410313 > - 24N ¥2
— ot -
39vS 1Iv4 + (IVNOILdO)

(LOHHANA MOT) TOMINOD HOLVYAO H00d ONIMS

X0g |0Jju09 wnjwalid




Troubleshooting

If door does not open at all, ensure door is not locked and power is on. If door is unlocked and power switch is on, check fuse(s), circuit breaker, and
connections. Use the following procedure.

1. Standard Control Box.

A

Adjust the pots to settings below. These are single turn pots.
P1 (Open Speed)= 100% (Clockwise)

P2 (Back Check Speed)= 100% (Clockwise)

P3 (Hold Open Time Delay)= 0% (Counter-Clockwise)

P4 (Back Check Position)= 50%

(Turn Counter-Clockwise until pot stops. Turn Clockwise one half turn.)
P5 (Latch Position)= 100% (Clockwise)

P6 (Close Speed)= 100% (Clockwise)

P7 (Sizing)= 100% (Clockwise)

P8= Not Applicable

Set Switches 1-4 off.

Activate door to test operation.

Adjust Control Box settings as needed.

2. Premium Control Box

A

Adjust the pots to settings below. These are single turn pots.
P1 (Hold Open Time Delay)= 0% (Clockwise)

P2 (Open Speed)= 100% (Counter-Clockwise)

P3 (Back Check Speed)= 100% (Counter-Clockwise)

P4= Not Applicable

P5= Not Applicable

P6 (Latch Position)= 50%

(Turn Counter-Clockwise until pot stops. Turn Clockwise one half turn.)
P7 (Close Speed)= 100% (Clockwise)

P8 (Sizing)= 100% (Counter-Clockwise)

Set Switches 1-4 off

Activate door to test operation.

Adjust Control Box settings as needed.

@@

S

ceEEEE]

o
2
9
=

-
-
[N}
-

OPEN SPEED

BACK CHECK
SPEED

HOLD OPEN
TIME DELAY

BACK CHECK
POSITION

LATCH
POSITION

(SPRING)
CLOSE SPEED

SIZING

NOT USED

OFF
NORMAL

[ENENIRVINS

L0 0 00 00

+

NOT USED

NOT USED
PUSH-N-GO ON
ACTIVATION DELAYED

O OPEN SPEED
\

NOT USED

CSPRING>

\ / CLOSE SPEED

O GENERIC

EQUIPT [ L
S =
1 77700-900 \y@w

NO BEAM

HOLD OPEN
TIME DELAY

n
T
W

i
T
a

~
Yy
[

240 || ma~

-
© e\ [___mmjev)
9% | Z

BACKCHECK SPEED <k>
Y 2
NOT USED

LATCH POSITION

SIZING
Y
Cmm -
4 5 SEC POWER BOOST ~ CONTINUOUS
5 OFF POWER BOOST ON
2 OfF P-N-G N
1 NORMAL ~ ACTIVATION  DELAYED

The pots must be adjusted for the specific application to meet the Americans with Disabilities Act, ANSI 156.19-1997, and local codes.

99101-084 Rev E

February 2003

Page 15 of 15




@R Dor-0-Matic.

Benchmark Extended Reveal Kit and Extended Reveal Assembly for 10" Reveal (maximum)

1
| & 4 ¢ @ & ©
|
i G}
+
[ . ‘ & @ & + % ”
[ \ ; ‘ 5/8
-
\ ° 11/4" 10
i
\ 1/8" | 1 7/15"? L1 15/15" EDGE 'OF DOOR
| NOM. —
|
i . 18" FORBUTT HUNG or _ |
OFFSET PIVOTS
fm———— 23" FOR CENTER PIVOTED DOOR ——=
DRILL & TAP FOR :
1/4-20 SCREWS OPlglgg\%'E 1h:::[:
(2 PLACES) SITE B
Figure 1 Figure 2

REMOVE
STANDARD PUSH ARM

95005-000 shown with 95025-1XX Arm Extension 95025-9XX Extended Arm Assembly
Figure 3 Figure 4

—_

Refer to 99101-084 Benchmark Installation Instructions for installation of operator onto door frame.
2. Before attaching the arm to the unit, apply power and turn the power switch on. Activate the operator to the full open
position by placing a jumper wire across the “Inside Activation” terminals to put the operator in the hold open position.

3. 95025-9XX (Figure 4) replaces the 95005-000 assembly that comes standard with the Benchmark. 99025-1XX
extended reveal kit requires that the installer remove the standard length push arm from the arm linkage and insert
the extended reveal arm (Figure 3).

4. Attach the shoe of the push arm assembly to the door (Figure 2). Slide the push arm into arm linkage and fasten
loosely with the socket head cap screw provided.

5. Attach the arm linkage to the operator (Figure 1) with the 8mm socket head screw (loosely) and adjust the arm to the
desired door position together with the shoe. Once the desired position has been chosen, tighten both the 8mm
socket head screw and the nut connecting the two parts of the arm.

6. Remove the jumper wire.

95041-084 REV. A 04/23/02



@R Dor-0-Matic

BENCHMARK
TROUBLE-SHOOTING CHART

For Standard Benchmark control boxes mfg after 12/1/03 and Premium control boxes mfg after 1/01/04
See Operators Manual (95299-084) and verify wire connects before trouble-shooting unit.

PROBLEM TEST CAUSE SOLUTION
Door will not open | 1) Check 3-way (on-off-hold open Switch is in off position. Place switch in "on"
when activated switch) and on-off switch. position.

2) Check circuit breaker
and fuse.

Circuit breaker tripped.
Fuse blown.

Push circuit breaker
into on position and
replace fuse.

3) Set VOM to 120 volts AC scale.
Place meter probes across black
and white wires of the AC power
cable. If meter does not read 117
volts....

Power supply has been
interrupted. Circuit
breaker at main panel
tripped.

Reset main panel
breaker.

4) Place VOM meter leads on
normally open contact leads from
activation device. If closer is not
indicated on meter when device is
activated....

Activation device is
inoperative or voltage not
supplied to device.

Restore voltage or
replace device.

5) Shut power off. Remove fuses
from control box and motor leads.
If fuse reads infinite OHMS.]...

Fuses open.

Replace fuse.

6) Place jumper across COMMON,
J4B-1 and MAIN ACTIVATE, J4A-
2 of control box. If door opens...

Activation device is
inoperative.

Replace activation
device.

7) If after performing the above
tests and the control box does not
open when sensor is activated...

Control box is faulty.

Replace control box.

Door will not fully
open

1) Manually push door open and
close. If not working freely....

Door binding.

Adjust door to
eliminate binding.

2) Check for loose or bad

Doors has loose or bad

Rework wiring and

connections of wires. connections. make sure all
connections are good.
Door will not size 1) Manually push door open and Door binding. Adjust door to

close. If door is hard to open and
close...

eliminate binding.

2) Check for loose or bad
connections on wires.

Doors with loose or bad
connections.

Rework wiring and
make sure all
connections are good.

3) Test motor. Disconnect power.
Place VOM meter lead to motor
wire and test to ground. If meter
reads other than infinite OHMS....

Faulty motor.

Replace motor.

Door will not close.

1) Turn off power. Push door to 90
degrees. If door does not close.

Operator spring broken.

Replace motorgear
box.

2) Disconnect all activation and
safety devices from control box. If
door holds open under power.

Faulty control box.

Replace control box.




@R Dor-0-Matic

BENCHMARK
TROUBLE-SHOOTING CHART

See Operators manual (99101-084) and verify wire connects before trouble-shooting unit.

PROBLEM TEST CAUSE SOLUTION
Door will not open 1) Check on-off-hold open Switch is in off position. Place switch in "on"
when activated switch and on-off switch. position.
2) Check circuit breaker Circuit breaker tripped. Push circuit breaker into
and fuse. Fuse blown. on position and replace

fuse.

3) Set VOM to 120 volts AC
scale. Place meter probes on
transformer panel. If meter
does not read 117 volts....

Power supply has been

interrupted. Circuit breaker

at main panel tripped.

Reset main panel
breaker.

4) Place VOM meter leads on
normally open contact leads
from activation device. If
closer is not indicated on
meter when device is
activated....

Activation device is
inoperative or voltage not
supplied to device.

Restore voltage or
replace device.

5) Shut power off. Remove
fuses from control box and
motor leads. If fuse reads
infinite OHMS ]...

Fuses open.

Replace fuse.

6) Place jumper across blue
and gray wires of control box.
If door opens...

Activation device is
inoperative.

Replace activation
device.

7) If after performing the
above tests and the control
box does not open when
sensor is activated...

Control box is faulty.

Replace control box.

Door will not fully
open

1) Manually push door open
and close. If not working
freely....

Door binding.

Adjust door to eliminate
binding.

2) Check for loose or bad

Doors has loose or bad

Rework wiring and make

connections of wires. connections. sure all connections are
good.
Door will not size 1) Manually push door open Door binding. Adjust door to eliminate

and close. If door is hard to
open and close...

binding.

2) Check for loose or bad
connections on wires.

Doors with loose or bad
connections.

Rework wiring and make
sure all connections are
good.

3) Test motor. Disconnect
power. Place VOM meter
lead to motor wire and test to
ground. If meter reads other
than infinite OHMS....

Faulty motor.

Replace motor.

Door will not close.

1) Turn off power. Push door
to 90 degrees. If door does
not close.

Operator spring broken.

Replace motorgear box.

2) Disconnect all activation
and safety devices from
control box. If door holds
open under power.

Faulty control box.

Replace control box.




	INTRODUCTION
	GENERAL
	INSTALLATION INSTRUCTIONS
	DO’S AND DON’TS
	REPLACEMENT PART LIST
	27” Push Arm
	27” Pull Arm
	FIGURE 7: MOTOR/GEARBOX & CONTROL BOX REMOVAL
	FIGURE 8: OPERATOR INSTALLATION – PULL ARM
	Full Length Push Arm
	Full Length Pull Arm
	Double Push Arm
	Low Ceiling Application
	Standard Control Box
	Premium Control Box
	FIGURE 26: PREMIUM CONTROL BOX WIRING
	Troubleshooting
	BENCHMARK
	TROUBLE-SHOOTING CHART
	For Standard Benchmark control boxes mfg after 12/1/03 and P

	BENCHMARK (1)
	TROUBLE-SHOOTING CHART (1)

